


8th JUNE, 2020		JESUS&MARY SCHOOL AND COLLEGE		MODULE – 3
CLASS – 12 
ECONOMICS 
           CHAPTER: THEORY OF CONSUMER’S BEHAVIOR
Note: Read the following explanations and answer the questions on them.
EXPLANATION 1
(Total and marginal utility)
Utility refers to the want satisfying power of a commodity. It is the capacity of a commodity to satisfy the human want. The main features of utility are given below-
1. Utility is subjective as it depends on the individual’s own estimate of the amount of satisfaction derived from using commodity.
2. Utility is not measurable in objective terms as satisfaction is not measurable. Some economist’s measure it in the term of subjective units called utils. 
3. Utility is relative in nature because of its subjective nature. It is relative to a person’s need, the greater the need, the greater is the utility.  Therefore utility varies from person to person, place to place and time to time.
4. Utility is different from usefulness. A good may possess utility even though it may not be useful. 
Total utility: It refers to the total satisfaction derived by the consumer from the consumption of a specified quantity of a commodity. 
Marginal utility: It refers to the additional utility derived from the consumption of an additional unit of commodity.
MUnth = TUn-TUn-1
Whereas total utility can be computed as the sum of marginal utility
Utility Schedule
	Units of Apples
	Total Utility (Utils)
	Marginal Utility (Utils)

	0
	0
	Undefined

	1
	10
	10 (10-0)

	2
	16
	6 (16-10)

	3
	20
	4 (20-16)

	4
	22
	2 (22-20)

	5
	22
	0 (22-22)

	6
	19
	-3 (19-22)





WORKSHEET
Answer the following questions:
1. What is utility?
2. What is difference between utility and usefulness?
3. What is util?
4. What is total utility?
5. [bookmark: _GoBack]What is marginal utility?
6. How can we derive total utility from marginal utility?
7. Write formula to derive marginal utility from total utility.
8. From the given schedule, calculate TU and MU of 3rd unit of consuming apple.
9. State one difference between TU and MU. 
10. Explain the term “Utility is relative in nature”. 
EXPLANATION 2
(Relationship between TU and MU)
From the schedule given in explanation one, it is clear that total utility increase as a consumer consumes more and more units of a commodity, but it increases in decreasing rate. The total utility reaches to the maximum point known as the satiation point, beyond which additional consumption actually reduces total utility. So total utility curve first goes upward, becomes maximum and then comes downward. So it is inverted U shape. 
Marginal utility on the other hand keeps on decreasing. As we consume an additional unit of a commodity our intensity of desire for the commodity falls so the utility derived from that commodity decreases. Therefore marginal utility curve in a negatively slopping curved. When our want is satisfied then MU becomes zero and after that it is negative.
From the above analysis we come to the following result:
· The total utility curve is concave from above, indicating declining marginal utility. It means that as long as total utility increases, marginal utility is positive but it keeps on decreasing.
· When total utility is maximum, then marginal utility is zero. 
· After reaching to the maximum point total utility curve tends to fall, then marginal utility becomes negative, we can put the relationship between total utility and marginal utility in the following way.
· So long as total utility increases, marginal utility is positive.
· Total utility is maximum then marginal utility is zero.
· When total utility decreases, marginal utility becomes negative.


WORKSHEET
Answer the following questions:
1. What is satiation point?
2. What is the shape of total utility curve?
3. What is the shape of marginal utility curve?
4. What is situation of MU at satiation point and why?
5. Why does TU increase at decreasing rate?
6. What does the negative sloping MU curve indicate?
7. Why does total utility tend to fall after reaching to the satiation point? 
8. From the schedule of utility gives isexplanation one draw TU and MU curves.
9. State one difference between TU and MU.
10. Explain the relationship between TU and MU.
EXPLANATION 3
(Law of diminishing marginal utility)
Law if diminishing marginal states that as the consumer has more and more of a commodity the marginal utility of the commodity falls. According to this law TU increases but at a decreasing rate and MU falls. The law of DMU holds good when the following assumptions are satisfied.
· All the units of a commodity must be identical i.e. same in all respect- in size, in colour, design, quality etc.
· Unit of commodity must be standard i.e. a cup of water, a bottle of cold drink, a full mango etc. unit should not be so small or so large.
· There should be no change in taste during the process of consumption. If consumer’s taste changes during the consumption process then the consumer likes the same commodity less or more, then law will not operate.
· Prices of the substitute commodity should remain constant, otherwise it may become difficult to have an idea the utility that the consumer might get from the main commodity.
· Besides the above points it is also assumed that the consumer is rational while taking decision of consumption, utility is not measurable and marginal utility of money remains constant. 
Explanation of the law: 
The law of diminishing marginal utility can be explained in the following ways:
1. The first explanation relates that as more and more quantity of a commodity is consumed, the intensity of desire falls and the utility derived from the additional unit decreases. For example if we are hungry and we eat breads, when we eat first bread then we get larger utility, when we eat second, then third then utility falls because the intensity of desire decreases. 
2. Second assumption is that if there are several uses of a commodity, then the most urgent need is full filled first, followed by the next urgent need for example if less electricity is available then it is used for most urgent thing for lighting only. If more is available then it is used for the less important need like cooking. In this way MU of electricity diminishes.
WORKSHEET
Answer the following questions:
1. State the law of diminishing marginal utility.
2. What do you mean by the term identical goods?
3. Why does the law of diminishing MU not operate if the taste of consumer changes? 
4. What are substitute commodities?
5. What is the relationship between utility of a commodity and intensity of desire for the same good?
6. Explain the law of diminishing marginal utility?
7. State any three assumptions to the law of diminishing marginal utility.
8. State three relationships between TU and MU.

REVISION OF CHAPTER 1(MODULE 1 AND 2)
Note: Read the explanation given in module 1 and 2 and answer the questions given on them.
WORKSHEET
Answer the following questions:
1. “X” and “Y”are two goods. If demand of “Y” increases due to rise in the price of “X”, how are these two goods related and why?
1. Why is there inverse relationship between price of a commodity and its demand?
1. How will an increase in price of tea affect the demand for-
1. Tea
1. Coffee 
1. Sugar
1. If the quantity demanded of a commodity “X” decrease as the household income increases, what type of good is “X”? Why? 
1. Given reason for the following:
1. Demand for a good increases when income of the consumer increases.
1. “X” and “Y” are substitute goods. A rise in price of “X” results in rightward shift of the demand curve of “Y”.
1. Explain what will happen to the demand for a commodity if:
1. The price of its substitute good falls.
1. The price of its complementary good falls.
1. Differentiate between normal good and an expensive good.
1. What is Ex-post demand?
1. Explain two differences between movement along demand curve and shift in demand curve.
1. Explain two causes responsible for decrease in demand.
1. From the given table in explanation 3 of module 2 draw the demand curve, showing increase in demand.
1. What are the Giffen goods? State one difference between Giffen goods and inferior goods.
1. Explain two reasons for the downward sloping of demand curve.
1. Explain two reasons for the upward sloping of demand curve.
1. Give reason for the following:
1. A consumer wants to buy more when price of a commodity falls.
1. More inferior goods are demanded on low income.
NOTE: 	
Please do this all work in your copies which will be checked when the school reopens. Please consider this important.




